Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER -1V EXAMINATION - SUMMER - 2017

Subject Code: 3340701 Date: 27-04-2017
Subject Name: Advanced Database Management System
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €20l SlEUBRL Ulctotl scllol UL,
List out TCL and DCL commands.

TCL ¥l DCL sMisell alEl vlatldl.

Give the syntax of Revoke command.

Revoke $HiSol{l cllsaiUatl UL,

Describe anchor data type.

Anchor 32l 2l8u aelal.

Define package.

Packageoll cautvaul al.

Define Full functional dependency and Trivial dependency.

Full functional dependency 4\ Trivial dependency ofl caltuAl AL,
List four different Armstrong’s Axioms for functional dependencies.
Functional dependencies Hl2etl AR Armstrong’s Axiomsell ALE]l tlollcl.
Define Normalization.

Normalizatione{l cutv4l AL

Write the name of different normal forms.

QAU A Saloll ol AW

State the full form of ACID properties.

ACID propertiesa] 2¥] ot AU,

List the methods of concurrency control.

Concurrency controle{l Ilcdle{l 2aLEl olatl.
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Q.2 (@ Explain RollBack command.
Ys.?  (¥) RollBack $HIS AHc
OR
(@ Explain Granting of privileges.
(A) Granting of privileges AHx1l.

(b)  Explain Unigque index with example.
(1)  Unique index GEL&R0L Uldc UM
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Explain Synonym with example.

Synonym GEL&0QL AU UMt
What is lock? Explain Levels of lock.
Lock 2@ ¢J? Lockell Aol UM,

OR
Explain View with example.

View GELE0QL AR UMM A

Consider following table:

Student(Rollno, Name, Address)

Write SQL command that insert records in above table using sequence for
Rollno field.

o{lAe] 2ol raulaMi Al
Student(Rollno, Name, Address)
GURell 2UAHL Rollno field HI& sequencesll GUADL s3lal 2818 SuL

scll Hieell SQL command WL

OR
Consider two users named “user1” and “user2”. “userl” is the owner of
“employee” table which have following structure.
employee( empno, ename, salary, deptno)
Write SQL queries for following:
1. userl gives permissions for insert, update and select privileges to
user2 with further grant option.
2. userl take away the permissions for insert and select privileges from
user2.

“user]” Aol “user2” ollHoll & YR RUAHL Al “user]” A “employee”
2uldoll AletlR B ¥ Bof ULy o{lA Yo B:

employee( empno, ename, salary, deptno)
o{lAatloll SQL queries AW

1. wuserl gives permissions for insert, update and select privileges to
user2 with further grant option.

2. userl take away the permissions for insert and select privileges from
user2.

Write Advantages of PL/SQL.
PL/SQLo{l Guo(lcizAl cvL.

OR
Write difference between SQL and PL/SQL.

SQL Aol PL/SQL cAall dglald AWl
What is Exception? Explain Named Exception.
Exception 2@ 9|? Named Exception d-astcll.

OR
Explain different attributes of cursor.

Cursorall (@A attribute UHsLA.
Draw and explain generic PL/SQL block.

PL/SQLell generic 6clls €lRlal ALl
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Explain steps to manage explicit cursors.

Explicit cursor Aal% $2clloll U AHsill.

Write PL/SQL program to find maximum out of three given numbers.
A0 ol HLel HIRl olet? 2uclloll PL/SQL WAUH L.

OR
Consider a table Account having three columns ano, balance and bname.
Develop a program to display three accounts having top three highest
balances.

Account 201 tRlletHl A ¥ Boll ARl SIAH B ano, balance sl bname.
QL WSIB2 ¥ Boj AAM cAURHL AR 8lal A slclletell HiZzell WaUH
ool el

Write difference between procedure and function.
Procedure o function clRAell dslald Ul

OR
Explain Lossy join decomposition with example.

Lossy join decomposition GELERQL U UHsLA.
Explain different types of Triggers.
(@l ystell Triggers UM

OR
Explain structure of Package.

Packages] HLOWW] UM,

Remove any redundant FD’s from following set and rewrite it.
A -->BC, B-->C, A--> B, AB-->C, AC-->D

o{lAcll AeHi8ll redundant FD’s 813l Al g3l .
A -->BC, B--> C, A--> B, AB-->C, AC-->D

List problems of Concurrency Control and explain Lost Update problem
with example.

Concurrency Controlell WeQHo{l ALEl olallcdl WA Lost Update problem

GeleR0L AR UHLA.

Explain 2NF with example.

2NF Gels0l ARt AHes Al

Explain Optimistic methods for concurrency control.
Concurrency control Ht2e{l Optimistic methods AHest.

Define functional dependency. Take a functional dependency example and
show it with the help of a diagram.

Functional dependencycﬂ cilv=Al AL Functional dependencyoj 518
GELSWL A8 Aoll SLAUH ElRlA elctL.
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